
 

  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Business Administration 

(CY 2020 & AY 2020 Batches Onwards) 

Second Year 

BUSINESS COMMUNICATION 

Time : 3 hours Maximum marks : 70 

PART A — (3  3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What do you mean by communication? 

 uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

2. What do you mean by “Caveat Empter” let the 
buyer beware? 

 Áõ[S£Áº áõUQμøu¯õP C¸UPmk® GßÓõÀ 

GßÚ? 

 UG-A–1117 BBA–21X
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3. What is meant by banking correspondence? 

 Á[Q°¯À Piuz öuõhº¦ GßÓõÀ GßÚ? 

4. What is speech? 

 ÷£a_ GßÓõÀ GßÚ? 

5. What you mean by notices? 

 AÔÂ¨¦PÒ GßÓõÀ GßÚ? 

PART B —  (3  7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Write a note on objectives of communication. 

 uPÁÀ öuõhº¤ß ÷|õUP[PÒ £ØÔ SÔ¨¦ ÁøμP. 

7. Draft a sales letter to your customers regarding 
the announcement of new washing launch. 

 ¦x Âu©õÚ \»øÁ C¯¢vμ® AÔ•P® öu›ÂUP 

ÁõiUøP¯õÍºPÐUS ÂØ£øÚU Piu® JßøÓ 

GÊxP. 

8. Write a note on the elements of a good banking 
correspondence. 

 ]Ó¢u Kº Á[Q°¯À Piuz öuõhº¤ß TÖPÒ £ØÔ 

SÔ¨¦ ÁøμP. 
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9. Explain the methods of preparing the agenda. 

 {PÌa] {μÀ u¯õ›US® •øÓPÒ £ØÔ ÂÍUSP. 

10. Write a note on composition of a speech. 

 ÷£a_ JßÔß £SvPÒ £ØÔ SÔ¨¦ GÊxP. 

PART C — (4  10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the barriers to communication. 

 uPÁÀ öuõhº¤ß C¯UPzøu £õvUS® uøhPÒ £ØÔ 

ÂÍUSP. 

12. Explain the structure of a business letter. 

 ÁoPU Piuzvß Pmhø©¨¦ £ØÔ ÂÍUSP. 

13. Explain the points to be kept in mind while 
drafting a collection letter. 

 Á`À Piu[PøÍ GÊx®÷£õx ©ÚvÀ öPõÒÍ 

÷Ási¯ SÔ¨¦PÒ ¯õøÁ? 

14. Explain the different styles of report with 
examples. 

 AÔUøP°ß £»ÁøPPøÍ Euõμn[PÐhß 

ÂÍUSP. 
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15. Describe the advantages and disadvantages of  
E-mail and internet. 

 ªßÚg\À ©ØÖ® Cøn¯zvß |ßø© wø©PøÍ 

ÂÁ›. 

16. Explain the advantages and disadvantages of 
written communication. 

 GÊzx uPÁÀ öuõhº¤ß |ßø©, wø©PøÍ ÂÍUSP. 

17. Discuss about the hints on writing the minutes. 

 Tmh |hÁiUøPU SÔ¨¦PøÍ GÊxÁx £ØÔ¯ ]» 

ÂÍUPU SÔ¨¦PøÍ¨ £ØÔ ÂÁõvUP. 

——––––––––– 



 

  

 

 

 
U.G. DEGREE EXAMINATION —  

JULY, 2022. 

Second Year 

Business Administration/Computer 
Application/Marketing Management 

(CY – 2020 & AY 2020 Batches onwards) 

MANAGERIAL ECONOMICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. State the law of demand. 

 ÷uøÁ Âvø¯U TÖP. 

2. What do you understand by monopolistic 
competition? 

 •ØÖ›ø©¨ ÷£õmi Gß£v¼¸¢x }Âº AÔÁx 

¯õx? 

 UG-A-1118 BBA–22X/
  BBAC–22X/
  BBAM–22X
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3. What is breakeven point? 

 \›\©ß ¦ÒÎ Gß£x ¯õx? 

4. What is ‘Production function’? 
 EØ£zv £oø¯¨ £ØÔ TÖ. 

5. Define national income. 
 |õmk Á¸©õÚ® GßÓõÀ GßÚ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Discuss the scope of managerial economics. 
 ÷©»õsø©¨ ö£õ¸Î¯¼ß £μ¨ö£Àø»ø¯ 

ÂÁõvUP. 

7. List the features of monopolistic competition. 
 •ØÖ›ø©¨ ÷£õmi°ß C¯À¦PøÍ £mi¯¼kP. 

8. Explain the computation of national income. 
 |õmk Á¸©õÚzøu GÆÁõÖ ©v¨¤kÁõ´? 

9. What are the factors affecting supply? 
 AÎ¨ø£ £õvUS® PõμoPÒ ¯õøÁ? 

10. Explain the law of increasing returns. 
 ÁÍº¢x ö\À ÂøÍÄ Âv £ØÔ ÂÁ›. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 

500 words. 

All questions carry equal marks. 

11. List out and explain the role of a managerial 

economics in business. 

 ÷©»õsø©¨ ö£õ¸Î»Ôb›ß £[QøÚ ÂÁ›UP. 

12. Explain the law of diminishing marginal utility. 

 SøÓ¢xö\À ÂÎ®¦ £¯ß£õmk Âvø¯ ÂÁ›. 

13. How price-output is determined under prefect 

competition? 

 {øÓÄ¨ ÷£õmi°À Âø» GÆÁõÖ 

{ºn°UP¨£kQÓx Gß£øu ÂÁ›. 

14. Analyses the defects of break – even analysis. 

 \›\© •ÔÄ¨¦ÒÎ B´Âß SøÓPøÍ ÂÁ›. 

15. Illustrate the law of variable proportions. 

 ©õÖQßÓ ÂQuõa\õμ Âvø¯ Áøμ¨£hzxhß 

ÂÍUSP. 
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16. Explain the importance of business cycle. 

 ÁoPa`ÇÀ •UQ¯zxÁzøu £ØÔ ÂÁ›. 

17. Explain the factors of production. 

 EØ£zv \õº¦ £ØÔ ÂÁ›. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Business Administration 

(From CY – 2020 onwards) 

Second Year 

QUANTITATIVE METHODS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What is meant by operation research? 
 ö\¯À•øÓ B´Ä GßÓõÀ GßÚ? 

2. Compare assignment model with a transportation 
model. 

 JxURmk ©õv›ø¯ ÷£õUSÁμzx ©õv›²hß 
J¨¤kP. 

3. Explain the application of queuing system. 
 Á›ø\ •øÓ°ß £¯ß£õkPÒ £ØÔ ÂÍUSP. 

 UG-A-1119 BBA–23X
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4. What are the advantages of network analysis? 

 Áøμ£h £S¨£õ´Ä •øÓ°ß |ßø©PÒ ¯õøÁ? 

5. Write short note on “Game theory”. 

 ÂøÍ¯õmk ÷Põm£õk ]Ö SÔ¨¦ ÁøμP. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Explain the simplex method in linear 
programming. 

 ÷|›¯À {μ»õUPzvÀ ]®¨ÍUì •øÓø¯ 
ÂÍUPÄ®. 

7. Explain the least cost method in detail. 

 «a]Ö AhUP ö\»Ä •øÓ £ØÔ _¸UP©õP GÊxP. 

8. Find the assignment of salesmen to various 
districts which will yield maximum profit. 

 1 2 3 4 

A 16 10 14 11

B 14 11 15 15

C 15 15 13 12

D 13 12 14 15
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 AvP£m\ »õ£® u¸® £À÷ÁÖ ©õÁmh[PÐUPõÚ 
ÂØ£øÚ¯õÍºPÎß JxURmk PnUQøÚ 
PshÔ¯Ä®. 

 1 2 3 4 

A 16 10 14 11

B 14 11 15 15

C 15 15 13 12

D 13 12 14 15

9. What are the basic characteristics of queuing 

system? 

 Á›ø\ •øÓ°ß Ai¨£øh ]Ó¨¤¯À¦PÒ 
¯õøÁ? 

10. Find the solution of the game whose payoff matrix 
is given below : 

  B 

  I II III IV V 

I –4 –2 –2 3 1 

II 1 0 –1 0 0 

III –6 –5 –2 –4 4 

 
 

A 

IV 3 1 –6 0 –8
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 R÷Ç öPõkUP¨£mkÒÍ ÷£BL¨ ÷©m›Uêß 
ÂøÍ¯õmiß wºøÁU PshÔ¯Ä®. 

  B 

  I II III IV V 

I –4 –2 –2 3 1 

II 1 0 –1 0 0 

III –6 –5 –2 –4 4 

 
 

A 

IV 3 1 –6 0 –8

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the characteristics of operations research. 

 ö\¯À£õmk Bμõ´a]°ß ]Ó¨¤¯À¦PøÍ 
ÂÍUPÄ®. 

12. Describe the various steps to be followed to solve 
the assignment problem by Hungrarian method. 

 í[÷P›¯ß •øÓø¯ £¯ß£kzv JxURmk 
PnUQØS wºÄ Põq® ÷£õx PÁÚzvÀ öPõÒÍ 
÷Ási¯ £À÷ÁÖ {ø»PÒ £ØÔ ÂÁ›UP. 
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13. Solve the following LPP 

 Maximize 21 52 xxZ +=  

 Subject to the conditions  

    

9

213

244

21

21

21

≤+
≤+
≤+

xx
xx
xx

 

    and 0, 21 ≥xx . 

 ÷|ºU÷Põmk ÁøμPø» •øÓø¯ £¯ß£kzv wºÄ 
PõsP. 

 AvP›UPÄ® 21 52 xxZ +=  

 Pmk¨£õkPÒ 

    

9

213

244

21

21

21

≤+
≤+
≤+

xx
xx
xx

 

    ©ØÖ® 0, 21 ≥xx .  

14. Solve the transportation problem by using MODI 
method. 

 D1 D2 D3 D4 Supply

S1 21 16 25 13 11 

S2 17 18 14 23 13 

S3 32 27 18 41 19 

Demand 6 10 12 15  
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 ¤ßÁ¸ÁÚÁØÔØS ÷£õUSÁμzx PnUøP 
u¯õ›UP. 

 D1 D2 D3 D4 AÎ¨¦

S1 21 16 25 13 11 
S2 17 18 14 23 13 
S3 32 27 18 41 19 
÷uøÁ 6 10 12 15  

15. Consider the PERT network given in fig. 
Determine the float of each activity and identify 
the critical path if the scheduled completion time 
for the project is 20 weeks. 

  

 £hzvÀ öPõkUP¨£mkÒÍ PERT ö|möÁõºUøPU 
PÁÛ²[PÒ. JÆöÁõ¸ ö\¯À£õmiß ªuøÁø¯z 
wº©õÛzx, vmh¨£oUPõÚ vmhªh¨£mh {øÓÄ 
÷|μ® 20 Áõμ[PÒ GßÓõÀ •UQ¯©õÚ £õøuø¯ 
Aøh¯õÍ® PõnÄ®. 
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16. In a departmental store one cashier is there to 
serve the customers. And the customers pick up 
their needs by themselves. The arrival rate is  
9 customers for every 5 minutes and the cashier 
can serve 10 customers in 5 minutes. Assuming 
Poisson arrival rate and exponential distribution 
for service rate, find : 

 (a) Average number of customers in the system. 
 (b) Average number of customers in the queue 

or average queue length. 
 (c) Average time a customer spends in the 

system. 
 (d) Average time a customer waits before being 

served. 

 J¸ £Àö£õ¸Ò A[Põi°À ÁõiUøP¯õÍºPÐUS 
÷\øÁ ö\´¯ J¸ Põ\õÍº C¸UQÓõº. ÷©¾® 
ÁõiUøP¯õÍºPÒ u[PÒ ÷uøÁPøÍ uõ[PÍõP÷Á 
GkzxUöPõÒQÓõºPÒ. Á¸øP ÂQu® JÆöÁõ¸ 5 
{ªh[PÐUS® 9 ÁõiUøP¯õÍºPÒ ©ØÖ® Põ\õÍº 
5 {ªh[PÎÀ 10 ÁõiUøP¯õÍºPÐUS ÷\øÁ 
ö\´¯»õ®. £õ´\ß Á¸øP ÂQu® ©ØÖ® ÷\øÁ 
ÂquzvØPõÚ Av÷ÁP Â{÷¯õP® BQ¯ÁøøÓU 
P¸zvÀ öPõsk. Psk¤iUPÄ®. 

 (A) Aø©¨¤À EÒÍ ÁõiUøP¯õÍºPÎß \μõ\› 
GsoUøP. 

 (B) Á›ø\°À EÒÍ ÁõiUøP¯õÍºPÎß \μõ\› 
GsoUøP AÀ»x \μõ\› Á›ø\ }Í®. 

 (C) J¸ ÁõiUøP¯õÍº PoÛ°À ö\»Âk® 
\μõ\› ÷|μ®. 

 (D) ÷\øÁ ö\´uÁØS •ß ÁõiUøP¯õÍº 
Põzv¸US® \μõ\› ÷|μ®. 
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17. Players A and B play a game in which each player 
has three coins (20p, 25p and 50p). Each of them 
selects a coin without the knowledge of the person. 
If the sum of the values of the coins is an even 
number A wins B’s coin. If that sum is an odd 
number, B wins A’s coin. 

 (a) Develop a payoff matrix with respect to 
player A. 

 (b) Find the optimal strategy for the player. 

 A ©ØÖ® B ÃμºPÒ JÆöÁõ¸ Ãμ¸® ‰ßÖ 
|õn¯[PøÍU öPõsh J¸ ÂøÍ¯õmøh 

ÂøÍ¯õkQÓõºPÒ (20p, 25p ©ØÖ® 50p). 
JÆöÁõ¸Á¸® A¢u |£¸USz öu›¯õ©À J¸ 
|õn¯zøuz ÷uº¢öukUQÓõºPÒ. |õn¯[PÎß 
©v¨¦PÎß TmkzöuõøP J¸ Cμmøh GsnõP 

C¸¢uõÀ, B |õn¯zøu öÁÀ¾®. A¢uz öuõøP 

JØøÓ¨£øh GsnõP C¸¢uõÀ, B öÁØÔ ö£Ö® A 
Cß |õn¯®. 

 (A) ¨÷Í¯º A øÁ¨ ö£õÖzuÁøμ ÷£BL¨ 
÷©m›Uøé E¸ÁõUS[PÒ. 

 (B) ¤÷Í¯¸UPõÚ EP¢u Ezvø¯U PshÔ¯Ä®. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Business Administration 

(From CY – 2020 onwards) 

Second Year 

FINANCIAL MANAGEMENT 

Time : 3 hours Maximum marks : 70 

PART A — (3  3 = 9 marks) 
Answer any THREE questions out of Five questions in 

100 words. 
All questions carry equal marks. 

1. Define the term financial management. 

 {v°¯À ÷©»õsø© Áøμ¯Ö. 

2. What is meant by capital structure? 

 ‰»uÚ Aø©¨¦ GßÓõÀ GßÚ? 

3. What is financial leverage? 

 {v°¯À ö|®¦÷PõÀ GßÓõÀ GßÚ? 

 UG-A-1120 BBA–24X
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4. Define the terms working capital. 

 |øh•øÓ ‰»uÚzøu Áøμ¯Ö. 

5. Define capital budgeting. 

 ‰»uÚ ÁμÄ ö\»Ä vmhzøu Áøμ¯Ö. 

PART B —  (3  7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Define the term financial management. What are 
its objectives? 

 {v°¯À ÷©»õsø© Gß£uß C»UPn® u¸P. 

Auß ÷|õUP[PøÍ SÔ¨¤kP. 

7. Explain the factors affecting capital structure. 

 ‰»uÚ Aø©¨ø£ £õvUS® PõμoPøÍ ÂÁ›. 

8. Explain the importance of working capital for a 
manufacturing concern. 

 J¸ EØ£zv Bø»°À |øh•øÓ ‰»uÚzvß 

•UQ¯zxÁ® £ØÔ ÂÍUSP. 



 UG-A-1120 3

9. A firm has a sales of Rs. 20,00,000, variable cost is 
Rs. 14,00,000 and fixed cost Rs. 4,00,000 and the 
debt is Rs. 10,00,000 at 10% rate of interest. Find 
out the leverages. 

 J¸ {ÖÁÚzvÀ ÂØ£øÚ ¹. 20,00,000 Auß ©õÖ® 

AhUP® ö\»ÄPÒ ¹. 14,00,000 ©ØÖ® {ø»¯õÚ 

AhUP® ¹. 4,00,000 Phß 10% Ámi°À ¹. 10,00,000 

BØÓ»õuõ¯[PøÍU Psk¤i. 

10. Prepare a cash budget of Bindra Ltd., for the year 
2008. 

 Rs. 
Opening balance of cash as on 1.1.2008 10,000
Cash sales 30,000
Receipts from debtors 50,000
Cash purchases 20,000
Payment to creditors 20,000
Payment to operating expenses 10,000
Dividend received 5,000

 öμõUP ÁμÄ ö\»Ä vmhzøu ¤¢uμõ ¼ªöhmiß 

2008® BskUS u¯õº ö\´P. 

 ¹. 

1.1.2008 AßøÓ¯ öμõUP C¸¨¦ 10,000
öμõUP ÂØ£øÚ 30,000
PhÚõÍºPÎß ö£ØÓx 50,000
öμõUP öPõÒ•uÀ 20,000
PhÜ¢÷uõ¸US ö\¾zv¯x 20,000
ö\¯À£õmk ö\»ÂÚ[PÒ ö\¾zv¯x 10,000
£[Põuõ¯® ö£ØÓx 5,000
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PART C — (4  10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 

500 words. 

All questions carry equal marks. 

11. What are the various functions of financial 
management? 

 {v°¯À ÷©»sø©°ß £À÷ÁÖ £oPøÍ 

ÂÍUSP. 

12. Explain the major determinants of dividend policy 
of a firm. 

 £[Põuõ¯U öPõÒøPø¯ {ºn°US® •UQ¯ 

PõμoPøÍ ÂÍUSP. 

13. What are the different sources of long-term 
finance? 

 }sh Põ» {v ÷\P›zu¼ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

14. Briefly explain the Modigliani-Miller approach 
about cost of capital. 

 ‰»uÚ AhUPzvÀ ÷©õiQ¼¯õÛ & ªÀ»º 

AqS•øÓ £ØÔ ÂÁ›. 
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15. The following is the capital structure of Moris 

Ltd., 

Sources Amount 

Rs. 

Market 

value Rs.

C/C

14% preference capital 2,00,000 2,30,000 14%

Equity capital 5,00,000 7,50,000 17%

16% debt 3,00,000 2,70,000 8% 

Total 10,00,000 12,50,000  

 Calculate the weighted average cost of capital, 

using book value weights and market value 

weights. 

 ÷©õ›ì {Ö©zvß ‰»uÚ Pmhø©¨¦ ¤ßÁ¸©õÖ : 

 

‰»[PÒ 

öuõøP  

¹. 

 \¢øu ©v¨¦ ¹.Qμ¯®

14%•ßÝ›ø© £[SPÒ 2,00,000  2,30,000 14% 

\©£[SPÒ 5,00,000  7,50,000 17% 

16% PhÜmk¨ £zvμ® 3,00,000  2,70,000 8% 

ö©õzu® 10,00,000  12,50,000  

 {øÓ°mh \μõ\› ‰»uÚ AhUPzøu ¦zuP 

©v¨¤¾® (©) \¢u ©v¨¤¾® PnUQkP. 
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16. Calculate the operating cycle of a company which 
gives the following details relating to its 
operations. 

 Rs. 

Raw material consumptions per annum 8,42,000

Annual cost of production 14,25,000

Annual cost of sales 15,30,000

Annual sales 19,50,000

Average value of current assets held 

Raw materials 1,24,000

Work in progress 72,000

Finished goods 1,22,000

Debtors 2,60,000

 The company gets 30 days credit from its 
suppliers. All sales made by the firm are on credit 
only. You make take one year as equal to 365 
days. 

 J¸ {Ö©zvß ö\¯À£õmkUS›¯ Â£μ[PÒ 

¤ßÁ©õÖ AÎUP¨£mkÒÍx. CuøÚ öPõsk 

ö\¯À£õmk _ÇØ]°øÚU PnUQkP. 

 ¹. 

‰»¨ö£õ¸Ò ~PºÄ BskUS 8,42,000

Bsiß EØ£zv AhUP® 14,25,000

Bsiß ÂØ£øÚ AhUP® 15,30,000
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Bsk ÂØ£øÚ 19,50,000

|h¨¦ ö\õzxUPÎß \μõ\› ©v¨¦øh¯x

‰»¨ö£õ¸mPÒ 1,24,000

•iÄö£Óõ ÷Áø» ©v¨¦ 72,000

•iÄØÓ ÷Áø» ©v¨¦ 1,22,000

PhÚõÎPÒ 2,60,000

 {Ö©® uÚx \μUS AÎ¨£ÁºPÎhª¸¢x  

30 |õmPÐUS Phß ö£ÖQÓx. {Ö©zvß AøÚzx 

ÂØ£øÚ²® PhÝUS ©mk÷© ÂØ£øÚ 

ö\´¯¨£kQÓx. J¸ Á¸h® Gß£x 365 |õmPøÍU 

SÔ¨¤kQÓx. 

17. Alpha Co. Ltd., has decided to purchase a new 
machinery. The machine (A and B) have been 
suggested each having an initial cost of  
Rs. 4,00,000 and requiring Rs. 20,000 on 
additional working capital at the end of the first 
year. Earnings after taxation are expected to be as 
follows : 

 Cash inflows 
Year Machine A  

Rs. 
Machine B 

Rs. 
1 40,000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,40,000 1,20,000
5 1,60,000 80,000
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 The company has a target of return of capital of 
10% and on this basis, compare the profitability of 
the machines suggest which machinery is to 
preferred. 

Year 1 2 3 4 5 
P.V. factors @ 10% 0.91 0.83 0.75 0.68 0.62

 BÀ£õ P®ö£Û ¼ªöhm ¦vuõP C¯¢vμ® KßÖ 

Áõ[Q wº©õÛzux. Cμsk C¯¢vμ[PÒ (A and B) 
£›¢xøμUP¨£mkÒÍÚ. JÆöÁõßÖ® öuõhUP 
AhUPÂø»¯õP ¹. 4,00,000&I öPõskÒÍx. 
©ØÖ® •uÀ Bsk CÖv°À TkuÀ |øh•øÓ 
‰»uÚ©õP ¹. 20,000 ÷uøÁ¨£kQÓx. 

 Á› Âv¨¤ØS ¤ß EÒÍ Á¸Áõ´ RÌUPshÁõÖ 

Gvº£õºUP¨£kQÓx. 

 öμõUP EÒÁμÄPÒ 

Bsk C¯¢vμ® A  
¹. 

C¯¢vμ® B  
¹. 

P.V. PõoPÒ 10%

1 40,000 1,20,000 0.91 
2 1,20,000 1,60,000 0.83 
3 1,60,000 2,00,000 0.75 
4 2,40,000 1,20,000 0.68 
5 1,60,000 80,000 0.62 

 {Ö©® •uÀ «uõÚ Á¸Áõ´ C»UQøÚ 10% BP 

øÁzxÒÍx. C¢u Ai¨£øh°À C¯¢vμzvÀ C»õ£ 

ußø©°øÚ J¨¤kP (©) G¢u C¯¢vμzøu 

÷uº¢öukUP»õ® GßÖ £›¢xøμ ö\´P. 

Á¸h® 1 2 3 4 5 
P.V. factors @ 10% 0.91 0.83 0.75 0.68 0.62

                                   ——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Business Administration 

(From CY – 2020 onwards) 

Second Year 

MARKETING MANAGEMENT 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What are the features of marketing? 

 \¢øu°køP ]Ó¨¤¯À¦PøÍ ÂÁ›. 

2. What is marketing mix? 

 \¢øu°køP P»øÁ GßÓõÀ GßÚ? 

3. Define consumer goods. 

 ~Pº÷Áõº ö£õ¸mPÒ & Áøμ¯Ö. 
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4. What are the psychological aspects in pricing? 

 Âø»°h¼ß EÍÂ¯À P¸zxPÒ ¯õøÁ? 

5. Define sales promotion. 

 ÂØ£øÚ ÷©®£õk & Áøμ¯Ö. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Explain the marketing environmental factors. 

 \¢øu°køPa `ÇÀ PõμoPøÍ ÂÁ›. 

7. Explain the various stages of buying decision 
process. 

 Áõ[SÁuØS •iöÁk¨£vÀ EÒÍ £i {ø»PøÍ 

ÂÁ›UP. 

8. Explain product life cycle. 

 ö£õ¸Îß ÁõÌ|õÒ _ÇØ] £ØÔ ÂÁ›UP. 
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9. What are the various types of channels of 
distribution? 

 ö£õ¸Ò Â{÷¯õP[PÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

10. Explain the advantages of advertising. 

 ÂÍ®£μ£kzxu¼ß |ßø©PøÍ ÂÁ›UP. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Discuss the functions of marketing. 

 \¢øu°køP°ß £oPøÍ Bμõ´P. 

12. What are factors influencing buyer behaviour. 

 Áõ[S£Á›ß |hzøuPøÍ wº©õÛUS® PõμoPÒ 

¯õøÁ? 

13. Explain the stages of development of new product. 

 ¦v¯ ö£õ¸øÍ ÷©®£kzxÁuØPõÚ £» {ø»PøÍ 

ÂÁ›UP. 

14. Explain the importance of personal selling. 

 BÒ\õº¢u ÂØ£øÚ°ß •UQ¯zxÁzøu ÂÁ›. 
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15. Discuss the factors influencing pricing decisions. 

 Âø»°køPUS •iöÁk¨£øu £õvUS® 

PõμoPøÍ Bμõ´P. 

16. Explain the functions of middleman. 

 CøhzuμPºPÎß £oPøÍ ÂÁ›UP. 

17. Discuss the various types of pricing strategies. 

 £À÷ÁÖ Âø»°hÀ ~m£[PÎß ÁøPPøÍ Bμõ´P. 

——––––––––– 


